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@ (x+3)(x+3+y) @ (x+3)(x+3-y)
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(x+y)(x-y)-2(x-y) = (x+y-2)(x~-y)




i L
ot
a1
QNJ
i
Ql\')
[
=
_|_
filo
ro
I
M
:?L_[‘
;gig‘
o

&
o
&
oo
N,
2
>
[
o,
¥
N

H7
@ x+1 © x-1 © a+1
® x-2 @ a-1
® 6,0, ® ©,0 ®)O,©, ®
ONENG) ® ©,6,0

a?x-a’-x+1=a*(x-1)-(x-1)

=(a+1)(a-1)(x-1)




14. B8 % ¥ +y-x— 2y 9 947} ohd L9

@xg—y @ x-y @ x-1
@ x+1 ® x*-1




15.

ab-2a-2b+4 5 <

@ (a+2)(b-2)

@ (a-2)(b+2)
® (a+1)(b-2)

® (a+2)(b+2)




16. o3 A ax—ay-bx+ by S A5E5f5HA?
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a?-a-b>-b=6
(a+b)(a-b)—(a+b)=6
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(2x—6y+4)+ (2x—6y—4) = 4x— 12y
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O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1l=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ P(x+1)-4(x+1) = (x+1)(x+2)(x-2)
@ab+1)-(b+1) = 1-a)1+b)

‘ ®ab+1)-(b+1)=(a-1)(b+1)
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A+B=(x+y-4)+ (x—y+4) = 2?4

=2 x=0FEEx=2,

Z70A x #0 0| B=, x =2 ©|t},




